O /

101

6 7

10 1 678910 1

Count on... what'’s missing?
13,14, 16, 17,18,19, 21, 22.

25 26 27 29 31 32

Count back... what’s missing?

20,19,18, __, 16, _ , 14,13, _ | 11.

39, 84,88, 82, 31 |1 294 98, .

10 1 6 7 10 1

6 7

101

6 7
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LN
S Count in twos. Put these numbers in the 00
right order. N
N No)
N B | p— LN
o ‘ .
N R N
™ 20 14 -
O 10 oy 18 =
L\: 22 12 o
16 .
N O
— 7891012345678 9101 2 4 5 6 n
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LN
- Count in tens. Put these numbers in the -
right order. ~
(N Ne)
- — — LN
E ] -
- 60 o
M~ 80 -
0 40 20 =
LN 10
N 00
30 50 70 N
N O
— 7891012345678 9101 2 4 5 6 un
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Ty

< Count in fives. Put these numbers in the 00
right order. N
(N Ne)
N — Ty
o ] -
e e N R R R o
- 35 40 o
0 o
" -

m 20 30
< - 10 00
25 »
N N
—7891012345678491012 3456w
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LD

Put a cross on all
N the numbers in the two
— times table.
-
v

Is there a pattern
in the numbers?

567

il | 101 2

101 2 5

6 7
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Ty
< Bar models "
What do you think this is trying to show us? e
o Ne
B Ty
o <
- N
h (20) Itis just like
L0 a part, part, "
& whole diagram.
ONO .
N O
—7891012345678910123 456w
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I: Bar models o

What do you think this is trying to show us? e
N O
- Ty
= .

i
00 N
™~ -—
0 @ It is just like =
2 a part, part, .
whole

i o o diagram. :
—789101234567891012 3 45 6 wn
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L\: Bar models o

What do you think this is trying to show us? e

o Ne

" Ty

= .

19 '

- N

. (20, =

o =
L

N 00

ONO .

N O

—78910123456784910123456w




